
 1 

 
 
 

���������������	
����
� ����������	
����
� ����������	
����
� ����������	
����
� ��� 
 
 
 
 
 

�
� ������� �� 

� ������ ��
����� � �� ������ ��
����� � �� ������ ��
����� � �� ������ ��
����� � � 
 
 
 

������� ������� !"#��$�� ��% ��&'!" (()��

�) 



 2 

* + ,- �.  
 

����#�(,
���,���$��������
����(,
�$������/ �

$��
��
�$� 
01�(����
�2 ��3���- ��
45$6��7 5���
89 �1�����(
���������� 5
:$� �$;<���
�1 
3�� �
89 $��� (�= � ��� ��
�>��� ?�@ �
��$�1� � 7
� A ��$� � ����$- 
B ��

A �C��D
��
� ��45E�;
���$01�(�����$
���� �����
�F �

4���� $
��;���?�@ �1�
��
���5�� 7
�
�05
�
�
�G�$� �?�@ �
��
������
�>���
H 
���$0
1��
�$�
#�����
A ���
�I �(,

����	�
���
�$�
1������(,

�A ��$� ��$����
�$����- $��$J��
�2 57�
���$� �,�$�
1�(,

��
���$���K �,L�
���$0
1�A ��$� ���M���
�
�
� �
��$� $0� ��N��M��
�E$�� $��
� �O�P,$��� 
�$��� � �����P,��,5
�$���PQ,�R
�
(�= ���1�(
���
����#�“$���4
��(��$���O�P,$���$���� ����(
��

$� S�
,�
�#�
�S�

$� �,�
�#�� �����P,��PQ,�R$
��
�
� �?� �T �?��� 1” 
��
�>�� ��$� � A ��$� � 
H 
����� �$��
�
� ,$��� (
�� ���� 4�
� 4U � �V W�.

�
����1� A ��$� � 
H 
����� ,�� 
�05
�$
�� �$	��� DE��,- �. 1� ��$��� ,- �� A ����.
���1� ��
�>��� ?�@ �
� ��$��� ���� ;9 5�� $�
X
��� detachment ��� �4��� 3���.
��$H �� ($���� ;��� ��
E��1� 
�$��� �Y,��� ;9 5�� �Y
<S� $��� 
H 
���� (
��1�
,- ��� ,�� �Y
<�
� X�� $��� �
�$� � ��
E�. 1� 3�X�� ,����� (R�$�� RetinaX�� E
R���
P
Z$� 
0�1�$���,����	�$��	�$���� ���$� �
0$��1�$�X��A ���A �$���� �������
,$��. � >�� �$���A 5$��?$[ �,;������1�,���X��A ���A �$����
X��
�1�3�����,$��
(���� ,���X�� ��X�� ���1� � ���$� S� ;9 5�� �Y
<� 
H 
��� 
�1� Ray 
�A �$E� 
� 

�
�

;
�Q�������\�� ]�������
�$�
�;9 5�����$
��
�$��Ratina 
Z��($0�
�I �
,0
�

�$������/ �@ �$
�$�
X
�������/ �H ]���($0����$- ���Y
<�
� �
Z��
H 
����($��

��1�>�� �����$�
X
��operation 3�������
�$� 
0$�
1�(
��(����- �����
��1 
3
�$��>�
�;9 5$� S�0�

�- 
�$� $01�$�X��,
�,^ ���$� �;��/,]�;��Q�������

��
E$�1 
DE��,- ��. _� !`��
a���$� �- $b �Q���_� !!��c��- �)����a�,4��T ��K �dX
���

d
X�1�
�G��� I.B. 
�A �E���������(��$��� �T ��
�$� ���
E$�
1��
�����

�X�
$������� (���� 
�+ $6� �� � ��e � ,L� 
���$01� (
�� �5
:���� ��$���� �����
X�Pf�$��� Dg�4��1� ,5
��$�� 
- U ���� �
����#� � �T $� �� �
�$�
� 
�I � 4]������ ,L�

���$0
�� ]������$�����?�PM��\����$�
����,L1�(
���
�����D��;��- 
������
��$����X�Sf�$���	
����()
�3������
�����h�X�����
����
- U �����+ �#�3�����
,L�4������
�
7��$0�� ���$���
�����1�����$- B ���(R�$��
�F �

4���� $
��$4�
D
��
� �;
���$0������ 5
:$� ������S�������
E$��
�1�� ]�����
�$�
�(��$���P,��
order (,
�$�� arrest �
��1� 
�
�C� i'/j/!`� (��$�� $�k �� ��� �
���� (
�,5��
,5
���$�$l ������4�S������1�$�7�$
��K ���7���,5
���?
H ������ ��� ��m �
�
�$� ���
E$�
1�� ��,��PM��* 
��$
�X��
�$� ���
E$�
1�� ]������n <��
�$�
�



 3 

“(,

�

$���J�$���#�(,
�$��A 5���5:������$01”�(
��
- U �����
�����(,
����

�$,�$X��3�����
�$�
�
�
�?�Po�\�“
�”1�(��$���p \($,�$�S������1�$- $���
$E$X� ����� 4������ ���� 3�- 
� ��$���� P
��� 4�
���� �q$8 � (��$�� �m �
�
�$�
1�(
��- �
������44�
� ��D��,5L$��$4A �$��
�� �� 5r 
��
����$���;���
_U �
���a� ��$� � 

����
� ���� ����
0�� $��� �Ys * 
�� (
�� �
����1� � ���$����
���	�E��$4�“- 5o” (Jew)�- �
� ����S�(
���
����1�
�� �7
r � ��t �������u �
,Y
����� ��
�E�$��(�
� S� ?[ �$�� �]�
	��� ��
7��$0� 3��� 

4���� $
� - v �
�� �
�
�$� $01� �
� ���� 4
�� 3�� 4�
���$�� A �
���� 
�$� � ,�$�� � $�� (
�� - �

��
(����w����
�$x��3����������4����V W����1 
�p \($,�
���������(
��S
�$��
- U �����
�����(
��
��?,��	��
�����$4�

(��$��

4���� $
�$H 
�$�
?�PM$��
� 

��
�$�
#�“(����P,��4��?>����
0��� ��
(
���
���
01�(,
���?,��	�$��X��(,
�$���
�$�1”��p \($,��$����
�����
(
�� 3�
� �� �* 
�� ?
A �u � �����$��� �2 57�
� ������ $4* 
�� ?� �T � 
�
;L�
��$��1�(
���$
��$
��
����S�H 
�+ 
y$
��
�+ $6��
� $��$	������A �
�$� �
��
E���1� 3
�$�� �85� S� A $� �� ��� A ��� A �$�� E�� z���� 
��1� � ������ P{ ��

�$� �,$��S� 
�� ����
�$� � ��
E�1� “��- w�$��S� | ��$
”� 4������ �85� � �������
��[ �$� ��851�$�} ,��85S�?$
$���$�7��
���
0$�
1�� ]������
����(�$
�
�;
�� �
�
�
��1�3��dX
����$��
�
�,$���. cc'�$A �{ ��$�p �~����$��(
��S�(����
���
0�E�X���Y� 5�������
�1�(
��?U �
�?�@ ����� �9 ��
0����(
��- �

�
�1�$��
����(����>�
�,�X����
X���$	��z5
����4��1��Y� 5���,���


�J�(�����Y� 5�� ��.

�$��������$
�- �
E��
0�1�
���
9 
� � $���?
	,
� 1�
� 

�$4�($����_��X��a�
��$4�E� ������� �$�p �~��� ��$��� ������ �
���$0
� ���� � �A �
��1� - �
E���
$�
7����0�E�X���Y� �?�@ ���� 
�$� $01�3���Y� 5�$� �(
��- �

����3��,Y
�����
?
u��(����

�X���$� �$������$4
�
��5� ������
E��$01�(����?
u��3�X��

�F � } ,�� ���$� � 
�6� �� �� _E�� �a� �
J� u $���(���� �r $��� $��
� 3�� @ �$
�
?�
@ � �($01�(
�� ��$� �� $�7�
� ��$� �� ,Y
���$� �(
���
0���1�(���� E�$��
$�P���� �
�$���$
���� �����X��($01���� �
��
�$��� ���S��$
���� �
�1�3��
A �$���$���������
X����,��(
��$��E�\����$��$E���1�$�7�$
�?
A U �$��$���
$����4$�������?$
�X����
����P
Z�1 
�p \($,� �$��� �
����� ,�� �K � $���$��� �
����� “(
�� A �C�� �
� $��	�

���”1�$- $���$�$���,$��
� 

�
S�(
��- �

$� �,�
��
��#�(����?,��	X��
��

0$��1�,$��3�X��$
�
X��(
���� ���$� �(
���5
:����(
���
�S
���S�(
��

�$wJ����1� H �+ 
y
� _(��$�� 
�F $��� P,�� ���,�� �� ,�� � ����� * r �a� S�
�
���$�� (
�� A �C�� �
� $��	� ���� 3��� 3- / � (
�� �$
� �$
� ��� � ��$� �
��
E���1�$�
7$� �$�
7$� �� !!���$����c��- �)������
�
����E� ����1�(
�����

0W�u ��� ,- �. #� 4�
4U � S� �5����$��� w���� �
���$
�� ���@ �� �
����1� �r �



 4 

_��
���a� S� �
� � 
���� D�� �5����� �
���
� �
��� S� (
�� �
�* 
�� 3���$� �
	
���
0���1�* + $��#�(,
���(�����$��3���
� $��	���r �� 	5�
�F �S�A ��$� ��
�9 ������������
��#���������$��A ��$� ���O�$��$���S��]�
;���
E��$01� 
$��E�� ����� ��$� � 
H 
�����,��� DE��,- �. 1� �����,�� - $b �Q��#� 4�
4U �S�



$���J� � ,� �$�� $- $�� 
����� Dg�$4�����
� $��	�?)��
1� 3���
� $��$	�� �$	��
(�S�?$
��?)��
�($0#�$4* 
��(,

�- �$

1�(
��
�u ���A $�����$��
��� �
�
����1� ����� ,�� $
,�$�� E�$
�� ,
���
�� �
����1� $�7�$
� ���� ,� �� / ���
� 5

�� �8�
� ,����� �$
� �R�� � Y
� � ��A � �
����1� 
���- ��� * + � ������� ���#�

�7* + �$E�
���
���3���$
,����9 ��S���f�� 5r ����- 	�
����
� ��� ��3���� ,o�
�A �$�� 
�F � ��
��� 	$2 ��� �C��� �9 �� / ��� � 5

�� � ,���� �A ��� � �$�� (
��
�� ��� � 5�� �����1� $
,�$��� 
�9 ����� ��
�x�2 ��� (��$�� �
� ���� ���

$H $<��

�9 ��
�A �$E�,�Z��,5u $����$	��@ �
�
�$�
��
����(��$���
�$�
1 
��
���	2 �����$
���
���A �� ���9 ������3����
� �����
� ����w����D����S�

?������� ����
����$�S���3���� ,��������
� ���$��$E�A ��� $���9 �����. #�
(���� - ��$
�� 
�
� 1� 4
�� 
�G��� ����� �E�� �
� ��$��� 3�X�� ���S� � ]���$���

;T ���@ �
�$�
�3���P� �
�9 ����
� ����3���
�����$���
�9 ���	���
�9 ��@ �
�
$���� $��(
��� ]���$���
�
��A �$�����������
��1�
�����$� �(�= ��
������u �
* + E$��� (��� ���� S� $� �� (,
��� ��	�$�� (,
��� ?
� � $� $��� �� ��
$���
�u $���
J�� ���$� ����5�#�(
��3����A �
�����(,
�����;�$����� ���1 
���������������������������������������������������������������� 
�����������������������������������������������������������������
� �\� 
��������������������������������������������������������������� o��� ��
��

� 

�����
�$����u��H �� 

� ������ ��
����� � ���MY���@ �
,� �
� 56,
��������. � `!����1 

“��E��
�F �	$2 ��
�$�J��$6��S�,- ��$��� �. 1��V $��
�,$����
�E����E$���
����,W� �
1� ��E$��� �A �$��(��$��� ��
� � ��N� S� ���- � - ��$
�� 3�� �Y�O�
?���

�
�� ���1��$� ��������$� ��3��,Y
���$� �
�
���$����� �����
� 
�� �
����$01�������$	����K ���$� ��� �����3���$�� 5���$� ��� 5�

- ��(
���$01�
A ��$� ���5$���� �������?� ��;������ �(X��� ��Q���;
���$01��t 
� �A ��$� �
�� 5�

- $��� ?� ��;�$��� 45E� ��
M�� � ����$01� �
� ��$��� ����� �$�� ��K � S�
$�� 5$�� $���� ,4���$�� @ �
� 
���� 
���� �
��� @ �
,� � ���1� 4�
��$��� S�
�� 5�

- $���?� ��;���������A �$��

$u - ���$� ���
�$��3���A ��� S�D�������
� ��E��
�����
� ��$���
�$��?������$� ���
�$�1” 
3������
X�
�����
�$���w�$���P,$��,��$����$��$7�
�� �($01 



 5 

��K �S� $�� 5$��,�,��� ���� ����$01� 
�I � 7 5�� �$
�$4�$E�� �
�� � ��� D�X���
����($��;
���
�$���5:��4��$�#�- ��$
����$����A �����
�$�S�- ��$
��PW
� �
S�(� ���PW
� $� ��]��$����A ����
� ����E�$������� ��
�$� ��
� ���$71 
���������YE,
� ��YJ��/�����X@ �;���$�� 
���������A �
� �
�,5��� ����- ���$- �	�
�o1 
�����������E- �
��$
����$�
�
��r $��o 
��������
�,5E��� Y�������K �� 5$� �
;���5o��
��K � S� $�� 5$�� $��� �� ,4���$�� @ �
� 
���� 
���� �
��� @ �
,� � ��1� ��- ��

�����- ����
J��?�� ��#��l #�S��)E$���- ��$
#�S��$2 �����,�A �$����K �$�� 5��
�A ��� $��
� 
�� $��
� ���$�� 
�����
1� DE��,- ��� �$�S� $�7�� 4��. #� P� u $���
�) �� $4� ��� ���,5+ $J�� ;
�LE� � ��
�<�� � ]���$��� P,�� ��K � $�� 5�� $� �� S�
(������� ���A �$�� 
�����
#� ��K�� * + � 
0W�u �� ���$���1� �
� ���� �$Z� 
����
�
��� S� � ���$��� ,- �� 3��� � ���. $��� * + E�� ���
������ ,- �� S� 4U �
�� $��
�.
���$��� ����� ��� 
��1� ,���$��� � 5
- �� �
� ��$��� 
�$�� ,�$9 ,� �
���
0$�
. #�
�
����� ]���$��$��5��
�- ��S�A .$¡���,�� $��

$9 ,��$�
#�
�����,��$¢ ��w���1�
E�8�#� - �����#� �
���#� 3��� ��$��� 
�F $��� - / � D������� 3��� 4�
$��� - / �
?�����$����
� ����$�
1�A ��$� �37
��
� ��$����
� ���
�
�
�
�P,$���
�$��
(
�$� $01�$���� $4�$E�D�����
����_� ���$����$	����	5�
��	�����������S�?$
��
($0
a��
� ��$���
;T �	����;5
���
�$� �(�= ��
���$01�4
��3�- 
����
��
� S�
�
� ���$��	
������$�
#�� $��A ��� �S�
�x ����,�$,���£ J��?
� ¤ ���
�$�1�
(��$������#�¥ x$�����M�
��$��4�������M�
��$�#�� ���
�E$��
�x����
�S�
�#�
P��$���,�$���� ��y�
�����$��
��� ����$�S�
�x����
�S
�1� 
��������S]���
M���� �	Y�
� o�$�	�o�,5
<o��6��9 ��o��
� o1 
��������� 5
6���v ���,5o���
T o�� 5
<o���
T ¦ ���� �o1 
��������3� �u ��
A 
J§I ���K �$�� 5¦ �� 
,�� �o� 
���������������������¨<���DE��,- ���� �
���. 1 
37�$
S� $�7�� 4��� P� u $��� �
� � u $��� �) �� (�M� ��$�� ��K � $�� 5S�

� Y
� ��A ��$�1 
��
�����X�1�$�J#��YJ#�
��5
#����X#�
���#��/�#�� 5��#��Y
¦ �#�	) #����#��5= #�

��
1���)$J��- ��
�S�����$���i�A �$E�A �E���������$01��������$� �(�= �
�
����,��,4��T �3������A �$E�
�A � �($01����������
�u �
�� ���� ��
�����
����@ �
�
$�1�3�����
X�A �$E���$	��D�X��A �E���$� ���
$���	2 ��A �$���
�;���
��1������3�X����	
���	�
�3���?/X��� ��E�S�� ,����	�
1�,
¦ ����� �������
	2 �$������
������
�����- �EZ
��
�����
�
� ������
���$01������H $��3$���
	2 �� ��$� $0� “D������� ���?�����”1� 3�� A �C��?
�
� �S�,�,��$��� A ��� S�
- R����� ,
R��$01� A ��� ��� ��N� S� ���- � - ��$
� ����� ,
��
� � A �C�� ��$� �
��	�1� 



 6 

“$��
����(
�������
�
�$�
1”�3�} ,�P
� ��

��,]�;���$� �($01�3��q$8 �
(��$���������� ���$4�?$
���
J�($0
�4]��������E$���E
� �S�
¤ ���
�J$��
� ,� ���
���$0
�3����$��������� �- �

��$0
1�$������
JE$���(� ��$�����
�r $��?�
@ � �($0
#� � ]������� ���
� $�
#� 4
�� �$��- 
� $��	� �$�
1� “©ª 
���
©�ª �� A �
� 1”� 3�� 
�U �$
� $4� $��
� $��� ��� 
�6���	�$��$��� $��� ���� } ,�
����4��1�$��
����
�$�J���P$������
�
�$� �($�
�
�1�����	�#���
�6�S����
�
JE������
�$�
1 
A ��� � ������ ��E$��� E
� � �q$8 � ?$
�� ��� ��� �
���$0
1� ���� �$��- 
���

� A ����1����
9 $L��E
� �S�
@ 
� �
�J$��,$� �S�?$
����� �����������$0. 1�
A 
� $� S� ��E
� � ��� ��� ��
	� � ��$�1� �4��� $��
� 3�� ?U �� �. $�l $�� $�l �
�
���� � ]����� ��u � ,
����� ��� ;¤ ���$�� d 5
�$� $0
1� 3�� ;¤ ����� E
� �YM� ���
����3�} ,�
�1�3��- / ��,
� �����$��	$
���$��- 
���1 
��E$������
��	����
�J$��� A �� A �H $�������($01 
�
���\����4����
�. #���
���1�� �«1�
�¬��. 1�* ­�* ��	,. 1 
;$l ��\�
����T #�� 5� �1��l 
��1�$��,�#��� #����E�$0��
���#�������� �	,. 1 
����\���
���#�����#�� �«#�� ��#��
o
���#�$E�
���#�?
T � .�#�$����+ 1 
�5	�\�,5®��E#����� #�,¯ ��E#�� ��#�,���#�����#���� 5
��X�����. 1 
�Y�n 
� �\�� 5� �#�� ��#�E8�#��u �#��
�� ��#����� �	,. 1 
� ¤ �\�����#�$��,�#����#�����������. #�?* + �	,. 1 
�

�\��l 
��#�����#�$���#�$x� �$�$R������. #�����?* + �	,. 1 
��K �\�$E�$�	�#�$���� 
$�� 5�\����� #���D4����
�1 
“�l 
���o� ���
���o� ,¯ ���Eo� � � A �
o� �Ys $T � ����} °�� $����o� $¤ �	�

����5��o1”�$���E�$��?� $���
�+ $6�$¤ �$	�����5�} $,�45$6���$���M���
#�$�7��
4��$� $01� � ]������?$� � �K � �K � �l 
��#� ���
��#� ,¯ ��E��A Y
� � �
�� ��� ����
	�����
��������v ������ �����$0
1�37�$
�$�7��4������	��$����$	��?� A �
�$���
�+ $6�456�3���?�����������- ���$��� ���������	�
����1����
9 L�
,- �S�$4��
� ��$���?��$�����S��$
���7���$��- 
. 1����Y$± ��?$� �
����T �
�
��
0�1 
��
$��� �$
� $4� ?��� � �$��� $����� $�7�� $��� ���� ��[ � �
�61� ?������

� �$��� $������ �
� ������ - ��
� 
�
� 1� ���� $��
� $- ��
� $JS� $�7�� 4��� 
�� ���
$��
���	��$�S�����$�7��4���
�#�$�
?�$����X��������
�1��) �S�?- �
�
��1�
�
� �����$Z�$4������
� �S�,- �
��($��� ���$� �$�7��4���?$
$��,5$��
�$� ��.

�
9 ��$� �D�
��S���
��
�$� �;���
�²�37�$
�$4�4����,- ��($
. #� $�X��,- �$T �.
� ���$���$H �� �$�S�����1��



 7 

$- ��
� J� �������� ,
r � E�� ��
T � S� �
� � ���� ��$4��� ³ J	�
��� �$��$E� $���
$��X��?���P,�v �
��
������$�
1����
���	��$����
$����$
������Y
M���A ���
�Y
6� ��� 3��� ?������ � �$��� $����� �Y<� ��1�(��$��� �$� � 4]������ ���
���
��n $���- 
R� �� ]���$����$
��
� ��$����A ���(�����́ 
��1�
�

A ��� �$J����� �
% 
�$���
A ��$� ��?$
���t ��$����$	��?$
��������
����µ� ���1�A ��� ������% �

� ''#� �������% � i&' #� � 56� - b �% � i`''� �� ��
�1� ��$�- �� � jj� �$
�(����
���� ¤ �
����� _,� ���� S� �2 �
�U �
a� 0�
,��� ��
��� ��1� (
�� �$� ��7�
��
,5u $����$�E�� �% ����������
���
01�� ''�7Y<�$% �(����- b 1�P����$�E�� �% ��
&''�� ?���O� �
���$��� &'''� �Q��� ,$�� �
� ��$��� (
�A ���� ���1� (����
�
� ����
�
� $� ��$�E�� �% �����������
�$� �,�
�1��
�Y
<���
� u�#� U �
�u �#� 
�U �
�u �#� �Y
<�����u�������
���Y
<��u�#� �Y
<��

@ .��
�x�Y
<��u�1�$����
�x�Y
<��u�$���$x� �����\�����������$01��4��$��.
$�l ��
�������
9 LE��
�;����$�
1������7
r � �����;¤ 1��������;¤ ��
�x �
- 

���������1�3��u $��

* ���©ª �3���E
� } ,��(����
� 1�(����
� $��$�l �
�
������
� ����
�
7� �����$01��
� ����3��
�$x �����
� ���(
�A ���1����$��
(
��

�����
�� ��6���
�1��Y
<�����;¤ �3�������
� �����;$¤ ���$� �


�R�.
,
�;$���- / ��(
����,- �,5u��
�
7���. 1�(
��A ��� $�����E�$� % �$��A ��� ���
���} $,������
�$� ��
�1�����37
�&'!"��
1����� !!#�� !"1���d�,
�����.
� ¤ �����
��45$E��PQ,
M���1�������¤ �
T �_$,�Ja�S���d��,
�����7 5��

�X@ �.

�
�C1��4���$��
�3��?U �� �
�F. $��$�l ��
����3��;¤ �d 5
����($�1�������

����¶T�1��¶T��	
������4���,
���$���3�;¤. 1����$��	
�����,
� ��������
�����$��� ��$��	
� �
�$� � ��$�1� (
�� * + � ���� ,��#� ���
$4�E�� 
��� $����

�x�Y
<������

} ,$��$4�������S����;$¤ ��
�U �
��
��Y� ��$�
#�$���
�U �$
�
37
��
���$���E� �% �� &'!"��
1�A ��� �3�����������$������
�
�
� �����
�
�$��A �����
�$�
1�
45E�
�A �E��q$8 ��$��X�������
������7���$��- 
1��� �#�$L� �#�w�,�#��
��\�

3�� A �$�� 45E� 
�A �$E������ �
�6�($01� �� �� 45$E�� ��X�� 45E�� �� �� 45E� 
�1�
$4�
����#�?T y���#��� �T������3����
� �� �T�������A �E���#�
Z��$��} ,�
�$� ���45$E���(����?T45�E#��� �T��45E�3����
� ��� �T��45$E��(
�A ������1�
������ �� �45E� ��� ������ �
�45$E�� 3�· L� �A ��� $��
� ���;$¤ �� ��$�� 
�1�
&''���$�E�� �% �� ��$� ��
�����;$¤ ��
� ��$���(
�A ���� $�7��
���$01� �
����
������(��$��7Yo�� !`��$
��i'���� �������
����(��,5��_�
���� �a�$� ~̧���
$- $�����($,�
���$0
1�����$d����
����A ��1�3��
�
�C���$� �� !!��$
��
�c�� - �)����� ,4��T � ���;¤ � A ��$� �� ,$9 � ?� �T � D
y�
1� ����� �$	�� �
����
��
M�� �����$- B ���� ���������;���PQ,�R$
��45E1�



 8 

�
� ��$��$����
�x�Y
<��(�= �������$� �����E�
���
�
� �EY��� �����$01�$���
�$� �$����
�x�Y
<��(�= ����3�X��$x� ����
�
�<�E����- �� ���,�������$� 1�
A ��� ���,
� ���������
�����$� $0�“$x� �������”1�3��E����- �� ���,����X��
����?�@ ���3�X�����r �$x� ����$���(����
�
�<���$®���� 
�(��$�������
,��²�������Y
<������$� �(�= ��
����$�J�,4��T ������(�5g���	�������$0�;���
�� � �
L�� $��
X� �Q��� ���� _cji#''#''#'''a1� ����� �$	�� � !#i #c #'!"�
?� �� � ������ ,�� ,Y
���� �Y
<� (�= � ��1� ,Y
���
X� �Y
<� ��$� � ��
E��
0��
� &#&"#c #'!"� �Q��� ���1� 3�� ��$���?$T �� ,Y
���$� � - ��� �Y
<�(�= � ��1�
;�· 
� �
�
�<�- ����Y
<��,��,��} ,* 
����Q� #��52 �#�����#�
Y
���#����
#�A Y* #�
���#��Y± #�� 56�S��
¹ �?�� ���} $,���$[ �@ �
�,����$01�(��������E�
���
�
� �
�q$8 � �
�$� 
0���1� ���� E�
��� ��� ��� �q$8 � A ��$� �� $
� ���� ?$
�� A �
����
���% $������ E�
��� �
� ������� �
���$0
1� $��� E�
�� �M���$
� �"  � ���% �
_���� !!a1��
A ��� �������E�
����¶T��
�A �E������E�
����	�
�?��q
1�$x� ���������

��$� ���¶T��E�
���
�
� ��
� 
�� �($01��4���� ]�������u �,
�������$��
�3. ��

�F $��$�l ��
����3�X��;¤ �d 5
����($�1�3��;¤ E
� $��3�X���¶T���$�1�
3��3�X���¶T $���?TE�� ��$��X���
������ �#�$L� �#�w�,��S��
�45E���$�1�
�� ���$
� �
�45$E�� ?<
���
� � 45E� ;
���$01� ���Y± � 3�� ?<
���
� � �
�� 45$E��
$���1��� ���$
��$�E�� �% ��&'!"1�37
�7Y<�% �� !!1��$�E�� �% ��&''��Q�$���
�$	���45
	
���S��Y$± ��- b �����
0�1�3��&''��Q�$����$	����5+ $9 $L��456�
����
0�1� 
,� ���� A �º � &"� 
�
� ���4���� ?�@ �
� �
���� ���� ��¤ �
T�� 
�
�
PM���$�� ����� � ��E� �$�
1� 45$6��(�= � ��$��� ?v 5�
$�� ���Y± � E�� ��� ����
�$�
1�
�$�E�� �% �� &''�� �$
�� ���� ��¤ �
T $� � (���� �
� ��$��� (
�A ��$���

,5�����1������(����- b 
�
1�(��37
�!"��Q���;
���$01�
�5+ $9 $L�� 456� 
�J$�� ����� 
������ ���A ��$� � 4���� 
�
7� �($0� P��� P6Y� �

���1�“�5+ $9 $L�456����
��$���?�@ �
�������¤ �������d�
9 $L�S��Y�n 
� �
����� 
9 $L� ?�
@ � � ($0
�� �

� PM�A �̈ ,�
9 L� (¤ ��� �
���� ,�R
�
�
�$� $0#�� ¤ �,��. A �̈ 
9 $L�($������
����$��A ���� ���$� $0
�3����� u � o�
,
�»��� �
���� P,�$��� �
�� � PM�A �̈ ,�
9 L$�� 

��9 �� �
�$� $0�� 
w� ���
P,��� $�� 5� �	��,��$��� / �. �� �¼ 
�� � ����� �l � �q8�� $� - � �� $- ���
9 L$��
(¤ ����
����?�
@ � �($0#�½ �
9 L��¼ 
�� ���������,�$x����
M�� ���$� $0��
;l �4��� $��
���$�� ,�R
� �
�$� $0
. �� ¤ .���#� 
;L�� S� � �� �
9 $L�� �	�A �$E�
?�@ �
� �
�$� $0�� ?
��C��� ������ �������� �¤ ��Y� � ����� �Y�n 
� ���¤ �T �
����
9 L$��(�Y� ��
����?�
@ � �($0
1” 



 9 

$�7�$
�45$6����$��
�
�C�
�J$��n <�P$G7�
��1�* + $���_�c����7���(
��
�Z�	���� �����
� ��
����� � �a�(��$���
���$0
�“�
������$= �&''��Q�$���
�$	������A ��$� ��456�(�= �����
0�1”�� 7
�����$���$�������
��$�
�3���
���A ��� �S�?<����,5����
��$�$7
1�� ����$	���
� ��$���(
�A �����$�E�� �% ��
&''��_7Yo�?o�� ''a�3��������¤ �
T ���
L��i�X��&&�
�

$X�����c��- �)����$��
$�l ��
���1� $�� 
�
� 
,� ���� A �º � $��� ��E��$�
1� ���Y± �S� A �º ��5+ $9 $L��
45$6���	�
�iX��,9 1�3���i�- $
���
� ���$��- �

$� 
1�
�I �¾ �A �C��45$6��
,�� ��$� � &'''� �Q��� ,�� �
� ���� �Y� ���� A ��� � ���$- � �
� 
�� � ��$� �
;
���$01�A �º ���e ��$��- v �
�� 1�A �º �47
�$��� ��E��$�
�� ]�����?$���
�6�
��* 
��(,

�7$��,
R���4��#�9 � �
;¿ * 
�S�


¦ ¿ ���1�
� 

�
������������ �
�
� 3��� ����� � ��E� �$�
1� �
� ���S� (- � ��e � (d�$� � - v �
�� � ��
�$�S�
(���������� ��$E��,$� ����
� ������u �(d�� �?
� ¤ ���
����
������ ��$��.
,
��� ���$�1�(
�������
�����$
��(
0�3���
����A �$��������� ��E��
��1�
�5+ $9 $L��,��&'''��Q���($E��
� ����($��
��1������(
�A ��������&'''�
�Q���,��������¤ �
T��
�
1�?���,$9 �456��
�$�S�A �º ��
� �����
0$�
1�
���4���S�
����Y� 5�����������1 

 

����,- �
�
	.  

 

����,- ��. � 
�
	� ���� 4��$� $01� E��� ����,5u $�� ��$9 $,�,§�$��� ���,- ��.

����4��$� $01�E��� ����,5u $����$9 $,�,§�$��� ���,- ����������$0. 1�����	��
$��� 

�$��(�
� ���#� ©ª 
�R��� � ��#� ���	�$�� �<� S� ��e �$�� * + $�� �����.
�
�$�
1��
� 
�� �
����
M�$� ����
������
�����,- ���
�$� ���$��P��$���P,��. .
� �
����- ��
�$�
1�S]�������} ,�
�����
�o#�S]�
��������
�o#�S]�7r����
����
(
�� ��
��
��$�$A ���
�o#�S]��������} 
,������������
�o��(;�
��- �� 
6��
A .$� ��,- ��S�A .� �,�����
������
�
��$�����	��
��
�$�
. 1���,- ���V .��} $,�.
����
� ���,- �. 1���,- ��S�����
�. �,- ���,- �$��?
A 
J� ���$� ���. . 1�������
S]�
�± 5�S]�� O��O�?������� � ��¶T $��?<
���
� ��
�45$E��$�E�� �% �o�&'!"�
�$J�� $��6� ?�� �$�� _$��o� ?o� i&i'�/i�a� _��� � !"a� ����7� ��$�� � À ,$9 �
,
����
T $��� ?� 5�� $E�L� ��� ?� 5�� ?� 5�� $E�L� ��� ?� 5�� � ����. ������ (
�� ��
��

������� �$���
����,- ��. _4U a��2 ������
�$  �_,��$����
� �
�a1����
�� ����o�

�6���I ��$
����o��Á 
���� 5
6�
�����
�L�
�� 5�����;�?����= o�� A ���A �� 51�
S]� � Q�O�S]�� � 
u � ��;
�� * + � �A Y
� �������� 4
�� d$X�,- �. � �
�$� � ��� � $��
37
� dX@ �,
���
���� ��$�
1� _E��� ���� ,5u�� ¨<��a�� - $�� ��� 
��� �
M�$� � ���.

������
�����$��� �E$���- $��H5$��,- ���
�$�
�3���������
�$�
. 1�E$���
��
,§� $��� ���,- ���
�$�
. 1� ,§$��� ���,- ��� $�J�,- �� ��$� $0�. . “- �� DE���”�



 10 

,- �. 1�- ��DE�������������} ,1�- �DE����,- ���,��������. �} ,��������,- ��
��.
�
�$�S� ;$�; � $�� ������} 
,��� ������ 	��
� ,- �� �
���� 7r���} ,� ��E$���.
,- ���
�$��,- ���E�= �4����Y
6���. . 1� ������$��
�

X#�dh�X�#�
�
#��� ��#�
� 
�#�
,9 #� ����
�$� � A �E� �
����� ��E$��� E
� 1� ��E�� �����$���� 7r } ,1� ?7r �
����
� ����������} $,�,
- � �. 1��$
�
���$���,$��¤ $��E$��#��4��. #�
�± 5#�
���
3��� $�J� u���
� � u $�1�3�������
� �� - �DE��1� - �DE���� ¤ �� 
���$���
� �
u $���$��� �1�Jf�;¤ �$A $���,$���
� u $����
� ����- / �� �
���$4�E,$��?����
��$� ���1�(�����
� ����	$���D�X��,�$�����

�������
01�$���,$�������
?)��
� �������1� ������$��� ,�� A .� � 
61� A .� � 
6�� 
�u �
�� � ($��;
��

�6��	�� �$Â � $�7 5
1� ���	��� ��$� � ��e ���3��� ��e ��� ��$� � ���	���. . ,4��T �

� 
���� � ��� �
�$�� ��$9 ,� A .� � 
6� ��1� ��$9 ,� A .� � 
6�� ,�� ?�/��� S�
��/��� �
���� ������} ,�� ������ 	��
� �
�$�
1� �
� ���� �$Z� � 56,
����$� �.
��,- ��S�
����4U �?)
�� ���. 1�$���,- ���
�u �
�� �/ ���
���
���������,- ��. .
���� ��1� ��$�$�� �������� �
M�� 7 5�� $���� �;
�� �. 
��1� 4$���$��� ��- ��
�� �,�
�� �� ��

��$��� �$� � 45$6� ,��
- � � �
1� � ]���$��� $���
�$�� ���������
�
M���
� 
�� �
0�. 1���

��������
� ��3���
M�X�. �- �,5$�������4�
�3���- �,5$��
($��� $��$>�� 	�$�� ����S� � �
9 � A �$�� �
M�X�. � �
� 
�� ��$�
1�(
�� �
M�. 
X�
���
� �
���
01� � ]����� ��� 5r #� ���u � S� ��,�1� �����$��� ����� �$	�� $4�
����
� �
¤ �����#�
� 

��������1�?7r ������������
9 $L��(�M�$
���$	���J�#�
�� 5#����#��� ��#�
�
#���
L�?�$��7
r � �����$0
1�7
r � �����
� ���4�. #�;l #�
���#�� 5	#��Y�n 
� #�� ¤ #��

#���K #�$�� 5�S�,Y
�����E
� ;¤ �
�$��7��� 1�- �$���
- b 
@ 
� �S��Y� 5�����;$¤ ���E
� ��H �1����;$¤ �����$��$����4��$� �,�$��
�1�
� 5
�� 
�F �� d$�� - b ���� �
���� 
���� ��$
�� (�� 
��� ��$
�#� � 5
�� 3�� ;$¤ ��
�$	��� �
���01� �4�. #� ;l #� ���#� � 5	#� �Y�n 
� #� � ¤ #� �

#� ��K #� $�� 5� \� $����
�
� ��
� 
$�
1� ��$��� $,0$
�� �
� � �
���$0
1� �
��� $,0$
� ��� ��#� ;$l ��
$,0$
�����#� ��$��� $,0$
� �E��� 57�#� � 5$	�� $,0$
� 
L,5��#� �Y�n 
� �� $,0$
�
� ���#�� $¤ ��$,0$
�A 5�$
x��#��

��$,0$
�����#���K��$,0$
�
0W�u �#�$�� 5��
$,0$
� 	���� �. #� ,Y
����� �
� � �A ���1� 3�} ,� ����
� �� ��} ,�� ���������
��� 5r #� 3�� �����
������ �2 ��
� �� ��������� ���u #� �����
������ E
� �
� ��
��������� ��7�
��,��1�(������� ��������� �����
����1������S� �������$� �
$��
� $A �� ($0� 
�? Po\� 
�1� ������ �����
����1� ����� $4� �����
������
� �
��} ,� ���� n <� �
����� - / �� �������$�� ¾ } ,� ��� 5r #� ���u � S� ��,���
�
���� � 5:�$
�� ����$01� ������ 	��$
�� ��� ��� �� 
�6��	�� �$Â � ���� ����$01�
����	��
���� �S������������ �3���� $������1������3��	�$��©ª � ��3���
�
� � �1���������(�����
� ��$���3��T �P,�� ��� �1 
,§$��� ��� � $��� �	�� 
���� �
� u�� ,4��T � ¤ �
���$��� ,��� ��
��� ,- ��.


�	�$
�� ,�1� ���	��. #� � �
	��
#� �
�,5�#�?
��� #� 
�� 6�7�#�(U �� S� ��e �$���



 11 

�	�
����,��. 
���$���,���� �
���
�	�$
��
�����,�1��
� ����	$2 ��D�X��
�����
,���EY��� �����$01�� �
���,$���������#�A .� � 
6#���� Y��/����� ��
���?��q
�
�
�$� � ��1� 3
�J$������,- �� 3��� DE��,- �� ��� �����
������,- �� 3��� 
����. . .
,- ���V .��} $,�� �
���,- �. . 1�� �
���,- ���
�$� ���$��?
A 
J� ��������9 ������.
�$��- 
1�
����,- ��
�	�$
�(�������������������,- �$��$����
�u Y� ��
�$� �. .
;��� 
�1� ����
� } 
,
�� ��������� (��� ���� ���1� 
���E�� �����$���� 7r �

�A .
� 1� 37�$
� ,- ��� �	�
� �9 �� ������$�� 3��� � ]������ 7r 
�A .
�. � 
���$��
?� �
�� ���1�(���� $4� � $��� ,- �� ?� �
�� �
�� $��� � �� �q$8 �(��$��� n <�.
	�����������$��- 
1� 
�Y
<��$��X�cX��u �1�_�a�@ .��_ia��� ��. _ja������_ca�� 5����1�

* ���©ª � �$��

�Y
<���$	��	������
��1�� � ����

* ���©ª � �$�������($��;
��?�= �1� 
_�a��Y
<��@ .�u �1����$������

��A �J���
�x �������1�- �$���@ .�������3���

��
9 $L��E
� �S�$- ��
� o���
�x©ª �r �����
�x�Y
<��?TE�� 1����E
� ���$� �
� 5����u $����� �9 ��q8 ��
���$01�3�q$8S�������$�1 
_ia��� ��Y
<��u�. 1����$������

��A �J����� - ���$�1������Y
<����
��u�1�

37�$
�(��$����$
�- E� �3������
9 $L���� �$� - ��A ��45� �- EO. #�E$��#��4��. #�

�± 5�S�
���u $���
�05�?���?�
@ � 1� 
_ja� �Y
<�� ����� u�1� 
9 
� � ?,� $� - � �+ O� $����� 3�� ,§� � $��� �� � ��.

?��$��� b �L��� ���$�1��� �� b �L��� ��S�- �$���?���
�F * 
���Y
<�������.
u $��?�
@ � 1�� b �L����$7�����O�� � #�,§�� b �L�� ��3�����������$� �!ÃÃÄ�
�����- �����- * 
���Y
<�������u $��?�
@ � 1�
�x©ª �r �3���
�x©ª �$r ��- ���
��������3�������u����$� ��Y<���1 
_�a� �Z� ��$� � 
���� ��;� 
�
��$��� $�S��� ��. 1� 4]������ �$
� �$�
� ��$���

(��� ����

$- $���- ��
�4�L����$��- 
�� ]����������	�����
�$� �,�$�
1�

� ��
� �
���$�� ��� ����� 
������
T � ��X�� ,�Z��
���� 3�X5� - $����- X�$�� n ���
����$�
�3���- �X5�5�,�
��
�$�
1 
_ia��
���(��#�;$l ��,���#���$���7
��#�� 5$	��?,��E�#��Y�n 
� ��?xÅ #�

� $¤ ��4U >5� 5�#��

������Y9 #���K��D� ��#�$�� 5���5���
�$	�4U ��41���E$���
$- ��
� ���	��
����� ]���$����
� �,Y
���$� �,
�$�
�� ���1�$4�$4��
� ��
������
�Y9 ���E$���$- ��
� ���$� �
�$�J�A �$���
� �(�����
�$� ��9 ��$������>���S�
,G����$� ��
�	�������
����� O�� O��
�$	�
A W�
A W���$��� ���4U �������1�
$��� ��� 4$U �� 
�A .
� $� � �� �(��. $�� �Y9 � 


�� ��
� � �� A �$��?�@ �
��$�. 1�
$�������
� ���E$���(��� ���1 
_ja� ��E$��� �
� � ?$
�� �Y9 � 

$- �� �$�� 
�$�JA �$�� �
§� � �$�. 1� 
�
A W�


9 $L�$������
� �������
�,5����$����1���E$�����
� ��- / �$�������* 
��.
	��������4��1 



 12 

_ca��$� ����$����$- ��
� �($01��
���$- ��
� ��
��$��$�����$- ��
� �$����
�
� ����� ��1� $��� ��� $- ��
� � 
�x©ª �$r � 0R����� ,$R� 3��� ,Y
���$� � ;
����
($�1�,Y
�������X�#�- �#����5#�?
Æ#�- ���S�- �$����
�S������$������$- ��
� �
(�����$�1����- �$���$��������$- ��
� \�
� �(��$������
�9 �� ����$��
�1�
$4�- ������$4����$����(�����
�$� ��9 �#�$�X���
�;�������Æ$��$�l ��
����
3���?/�/ ����S�
9 $L��
@ 
� �$�
7��1�(�����������
�$��
��$����� X���
� �
(�����
�$��$�X��
�;�����$���5
<��0p �$�
7��1 

 

����,- �.  

�
���	��
�\�S]�9 
L�����s ,���� ����
��Ç�w�����5�Ç1 
�������������,¯ �u w������A ������,� ��

���� �x���
Ç. � 
�������������
���
	����� ���4�����
¿ ��� �
	����� �. � 
,- ����. \�S]�È���È����4����. � 
É Ê���K ������- ,�\�`'''��`''�$�����`'�� ,����©�ª ��$A �- 
�����
��* R�


�
�� �� r 5���(����
�	���
,��
����?
Æ1���
����$��$���� \�S]�(�Y$± 
�
�- ����M���$
��

$���Ë�Y� ���M�§1�
��Ì $�
��
�� ���$�
�$�$���4�
� �A 5�
�

�
,s �Í�� ���1 
�����\�S]�- ���5� ���C������s $,������D�
� Ç1 
��������� �T �
����� ��,�,Î���$� ��
� �
�����Ç� 
�$4����?d���. \�S]�
�o�
��� $� �©ª ��A �� $� �
�± 5$� - $� 
�������������- EO��
�$L��
�$L��2 ���
�$������?d����S]��4�����
�o. � 
?
	$��� ��
�$���	��
�S�,- �. ����$��� ����
9 $��
���S���$���
¿ ��,- �. � 
�� �
	$��� ���
¿ ��	��
�\�S]�
,��Ï �| Ð�$���9 �
,
�� �- Z$��?+ �o1 
��������������������������0�E@ o���9 �$L�. �
Æo��� �
� �o��
� 	���o� 
�����\�S]�
$��
�$u �
L,5��
��;9 5$���$�x��
����7� ��5$J1 
��������;��
���- Z$�J5���
@ $� �
L	��
�A � $��
����¿ $�� 
��� ����	��
�\�S]�s ��������
�$�7����
L
�
�����
�����
@ �� 
���������������$�����K ���r �
��$7X���,���C5��	��Ç� 
,- ���. ��S]�È���À ��������� �� �H f�� ���. � 
�
9 ���S���
�\�$	)��� ����,¡��[ 1�����#�� �«�S�P,��� 1 
,- �. ¨���\��� ;�
#�* ­�* �#�	,. #��� ,5®#�����#��[ 1 
?�� ���\����1 
$��$���	��
�\�S]���� 5̈����s ��$L����u ��LÇ�
�� �q��1 
���������������$x� ��
w��K ��������
9 ����E$�� �Ç� 
������������������x��$x� �,¯ @ ��
�
;$T ����
	����� �1 
���������������- ����� �
	���§��4���� ��. ��$�O�� ��� 



 13 

,- ����. \�S]�¾ ]�À ���$������ 
�����\�S]�
����� �� 5J���A ��9 �$���������= �Ç1 
��������
��
���
�
��A � ����$= �� 5��5X�A .J�Ç� 
- ,�� ?	o,�

#� �
� ����� - $,�� ��7��� �&'''�� $���� �&''�� � ,��� �&'��

?
A $J���&��©�ª ��$A �- 
�i����,�
���$A �- 
�i��,������$����
�	��
,���

����?
Æ� 
��
����$��$����\�S]�(,��� ��$�� 5$� �
�x� o�$����Y<��� 
�������������������A ����- � ���E$��� �����S]�¾ ]�À ]��$������� ���1 
�
��¨���\�dY� �,�$��1 
?
	$��� ��P����	��
��S]�� ������Y����$E�����A 5- w����
¶� �Ç1 
�����������������������
����
�������$�
�,�
�
��
�»� ������� 
������������������������ � À ��;�����	Y���A E�� �$� �;��
9 $�1 
�����������������������
�/ � ��
9 ����u ��
� �T ���,
�
;T $�O� 
�����������������������
�
�
,���� ���� ���
��+ ¨���A � ��
;T $�O1 
�����������������������
wA 5- ���� ���$E�������,¯ �;���	�
���� 
��������������������������Ñ;2 �
@ $� �,$̄ �,¯ ��$
�E� ����� �Ç� 
�� �
	$��� ���+ $���	��
��S]�,�¦ �$� ���+ ���� À ������� .°� 5¼ �Ç1 
���������������������������?,���,
� ��,��	���,
���$����� �$�O 
,- �. ����������\�S]��+ �	�$��
- ± 5o�,5+ $J�

�E
	,o1�,���$u ������K u �� � 
������������������

� ��
$��
�o1 
,- �̈ ���. \�� À #�,5®#��[ #�����#�(A ��#�$x� ;�
#�����	,. 1 
�
9 ���\��� 1���
�,¡�[ 1�� À �$	)1�9 ���,5
�� ��� 1��- � �


2 �� �;l 1 
������	��
�\�S]���T���§
�
WA ���
��
E
����7�¦ � 5
A ��E��- o1 
����������������$u �O�
9 � �
��Ì ���Y� �d�X���
��;����
���
��Ç1 
���������������
�»�
������Ò45Ó �A �����u o�
���$X�¼ ��Ç1 
���������������$9 ����6�

� q�
�q��
�� ����$���
��
@ � �Ç� 
,- ����. \�S]�È��������������
�o1 
��$���	��
�\�S]�(�T���9 
L����� ��$�J@ ��;� 5��5�Ç1 
���������������(�� ��������
��A ��w�- ��;� 5A 5�- Ç� 
����������������
9 $��Ê��¤ ��· 
� ����A ��E����Ç1 
���������������(
�� ��
�� 57��$����� w$������Ô $�O� 
���������������� 8�
������ ��$A ����
9 
� ��� �
	����� Ç� 
,- ����. \�S]�È������������1 
�����\�S]�	���EA ��= .� ��
�D�Q,5� ����A Ç1 
���������5������
� �u§�$��
�� ����
�����Ç� 
- ,�\�É Ê�,�
��S��������$� �- ,��- $,����7���"'''��$����"''��� ,���"'��

?
A $J��"��©�ª ��$A �- 
��1�
A 9 5��$A �- 
��� 



 14 

$���� \� 	«� 
���� ?
Æ. #� 7
��� ��� � �
�	�� $��$��� ��� \� S]� ?
Æ� 5�6��� 
��o�
��5Q,
� o�,Y
�����?�Ç1�?,���$�� ��
�
- ¶
� �� ���1�S]�È���������� ���� 
,- �̈ ���. \��5C5���;�
#��� ,5®�
���$����+ �	,. � 
�
9 ���\��� �����YJ����
�\��� �����[ ���������� ��S�� �«� 
� $���	��
�\�S]���
M�$�������A �E���� .$��,
����
@ � Ç1 
_��
M��a������� � ���§
�����A ���
� ��u �������1 
��������������
wA 5- ���Á �T ����
�
��C���A .
J� Ç� 
,- �����. \�S]���
M�$����
�o� 
�����\�S]���
M�$����
�� �
��$E���,5L���� ��Ç. 1 
��������JR�

�����A �E����� ��,��

��
. Ç� 
�� �
	$��� ��
9 
� ��,- ��. \�S]�,Y
�����
�o1 
$��� ���E��� 57���	��
�\�S]��$	��� 	�
Õ ��
���r ,���$����
�����$
� 

��������������������,
�E� ���,
�,�� �����Ç1 
,�� �q��A ��������
�A .
J� �����$������ ��
��	Y� � 5Ö �������
- Ô �Ç� 

- Ô ���������$�
�$�������$�
��Á ��,
�,�R�T �Ç1 
E��
� d�$� 
�;��
9 $�
�,�� �q��z����
wA 5- �Ç�
��
�� 
,- �����. \�S]�× ����E��� 5
7��$� ��D<�
�����;��� 57��u = ��
- Ô �� 
����������������������5
6��
����È���S]�� ���1 
?�� ���\�
Y
���1 
�5$	��	��
�\�S]���E	�����5��$L�����s ��,�� ��;� 5A 5�- Ç1 
���������������$��Ê�¤ �� ¦ 2 ��E������7
RØE
Ç� 
��������������4���� ��
���E��$������,�� ��[Ç�� ��Ô $�O. 1 
�������������
������
	����§�
�± 5��� �
	����� Ç1 
,- �����. \�S]�¾ ��È�������� 5	��1 
�����\�S]�
���5�
���s ����} $,���
� Ç��5	Ç1 
��������$�������� �* $��$,� ��
��
���
�
o�� � Ç� 
u �� S� ���� ����$� � � 5$	�� - ,� \� - $,�� ��7��� �!'''�� $���� �!''�� � ,���

��!���?
A $J���!��©�ª ��$A �- 
�i��
�� �$A �- 
����$����- Z��
����?
Æ��
?,���$E����
�	� 
,- ����. �\�,�� ��[ ��	,��[ �
�. ������E8��dY� 45� �$����+ �	,. 1 
$��$������\�S]�?$��
��� DJ��
¦ L����$	��?�M��1�(���� $J�- �� $�$�� 
�������������������������$��]��PJ�5	o�� ���J 
���������������S]�¾ ]�È]���]��� 5	���� ���� 
?
	$��� ��
����$���	��
�\�S]�$	��o������
�� Y�r ���	��M�� 
����������������������������
��������
�- ��
��
W
�<o1 
����������������������������$��5������
���5r ���
�
���
X���� 
����������������������������
��Ì ���,5	Y�� ��� ;¤ o1 



 15 

,- �����. \�S]�È���
��������
�o1 
�����\�S]�
$���©ª ��$�����$E��©�ª ��
�� ���;1 
��������- E
6� ������Y± ���$E�
�����
$���
�o� 
�� �
	$��� ��
�± 5��	��
�\�S]�� 6�Ù 
X���C����
����5$�F ��
WA Ç1 
��������������������������
����o���� ��o�$������o�����TÇ�;��;�Ç� 
�����������������������������
��Y� �$� �$�
�
�§I 
������� o1 
��������������������������� 
�A ����
�- ��,¯ ��	���T ��E����� A �Ç� 
��������������������������A .
J� ��������� wy�
,� ���

��· �
o1 
�����������������������������,5
<�E+ R���¦ ���T �M 5�,
�� .� Ç� 
,- �����. \�S]��]��
�± $��
�o� 
E��L��\�S]��L$�����$���
���
�¯ $�����$�����	��
��� $Ë��
�± 5o��$;����O� 
$����
L,5��������	��
�\�S]�� � o�,¯ 

A ���$������������
��$��¼ ��Ç1 
��������������������������- ����5� ������������
R����5� $��,��Ç� 
��������������������������,¯ ��E��
� �������5C5��+ ���
WA �Ç1 
��������������������������Ù 5�b 5�5X���
����
�
C
��- ����
r � �Ç� 
������������������������������
���5��C����5
X�����,G��Ç1 
���������������������������� ���+ ���C�����
�$= �- ��r ��Ç� 
��������������������������
�
§�$6�F ��5
X�����X��YD�,
¡��Ç1 
��������������������������
,
����	)������Ï �� ���,�$�x��Ç� 
��������������������������(
�� 5
�$� �G�������$��
�� �$��;
�Ç1 
��������������������������Ù .�b �7�. �C����
���$6���5r ��Ç� 
��������������������������� Er ��r ��$A �E�
- $� Ú �Y� ���r ��Ç1 
��������������������������
�x�2 ���
�

2 ����L��,<�
�
���Ç. � 
��������������������������� �«
�Û��
�q�A �$� �����Y$� �,��Ç1 
��������������������������
� � ���	54��
�
- � ���	54�������E��Ç� 
��������������������������?$
�,���* $��$,� �
;�5$��$y��$��
A � �Ç1 
���������������������������q5���������$������Y�����
��� �A 5��- o� 
���������������������������$� �Q,�����������5�������q5- �ÜJ 
���������������������������� �q5- �
7$- ��
� 
� �� �

� �
A @ ��Ç� 
��������������������������� 5� ������$� �$,� ��� 5W� �,$��	��Ç1 
��������������������������
L��������45� ��	�$���� $��
A � �Ç� 
���������������������������������
����M��������
A �
�A .
J� �Ç1 
��������������������������?
d����d
X� ���§�45� �

� 
q��Ç� 
��������������������������

� q
�q
w���$������
- ����C5��Ç1 
��������������������������������
�� �u = ���5��$��+ ��x��Ç� 
���������������������������������5� ������- �)�r ���85��Ç1 
������������������������������������� 5���- Ý �45E���
r � �Ç� 



 16 

��������������������������E°* �H �,�wÚ ��,��
- � ��· ,�Ç. 1 
��������������������������� )��d���5���� · �
7��
- �
���
- � �Ç� 
��������������������������©ª ��
�± 5�
�$������

dY<�;���q.- �Ç1 
����������������������������� ��� ��� ��C�����
T ��T �
���
�
�Ç� 
��������������������������$��
�� ��
- � �
�F ��- �����
R��} 
,��Ç1 
���������������������������� �[ �,
�	�
���,���C5���$����� �Ç� 
���������������������������� ,¯ �


�<�I ��� �A ���A .
J� �Ç1 
��������������������������;� 5A 5�- ���
L$
L�I �,§����	)	���Ç� 
���������������������������,�����$��
b ��� �q5��,5
�� �

�Ç. 1 
������������������������������YE��$��y����5C5��+ ��
����Ç� 
���������������������������� ��Y����$���z����� ��A ���A .
J� �Ç1 
��������������������������- E��× ���- 

���- E¨� 
���
���Ç� 
��������������������������- E���J��������- EQ�����} 
,��Ç1 
���������������������������� ��������$������� ��$��A �E������Ç� 
���������������������������� ���� ������

� ������ ��
� �����
���Ç1 
��������������������������3���} ,��� �
��	�������
��o���,- $�O. � 
,- �����. \�S]�¤ ���¤ ���¤ ���È���È���������¤ ���¤ ���¤ ���È���È���������. . . .  
������������ ���1 
?�� ���\�A E��
�� 561 
�Y�n 
� ��	��
�\�S]�
w- ��
�����,�� ����8�§�JR�5�Ç1 
�����������������	��$�O�,�� �q���- �����$��- @ ��;� 5A 5�- Ç� 
������������������$9 �6���9 �����������r ��Ô $�O1 
�����������������©ª �
	����� ���4���� 
�l ��� �
	����� Ç. � 
,- �����. \�S]�È���À �������Y�n � $�. 1 
�����\�S]�$��� �
��Y
J
�§�* + ���
���
WA Ç1 
�����������A .� ��
L$��$����� ��
��
���Y�n 
� Ç� 
- ,�\�u Õ �,�
��S���������$� �- ,����7���� #'''��$����� ''��� ,���� '��

?
A $J�� � �� ©�ª �� $A �- 
� i�� $- �
� 
���� $A �- 
� ��� $���� 
�
7� 
���� ?
Æ��
?xÅ ���$Z���
�	� 
$��$������\�S]��Y�n $� �,
�������$�
��$9 ���
�L]��?,��	��
o��A � O�$�
�o�

��Y$
�45	��- �W�� ���$�	��
�� ����
���� �����S]�È]��À ]���]��Y�n � $��� ���. 1 
,- ��¨���. \�,�� ���,5®��,�� ��$����¨���
���;�
#�?* + #������S��5Ç��5Ç�3��

;�
�������E8¨�������� �	,. ���
9 ���,�� ��$�����[ 45Ó ����
� \�� 5� �#���§
#�
,�� ��$����?x��4$U �,��� �S�H �� 
?
	$��� ��©ª ���	��
�\�S]�,¯ ��
$@ ��- X�$���	��$�O�©ª ��;� 5A 5�- o1 
������������������������?9 ������Ð���
����,5u�§���r �5Ç� 
����������������������������o��Y± �
- 
��� � �,�$x������u ����;� 



 17 

,- �����. \�S]�©ª $��
�o� 
�����\�S]�,¯ $4�

¦ � 5�
M�$�������o�,�� �q�. 1 
��������4U �	�9 ¦ � 5��E�u �� �

� ���
$��
�o� 
�� �
	$��� ���$l ��	��
�\�S]�,�� �������e �9 ���Þ ,¯���
�A 5Ç1 
����������������������������� ���C�����45� ��$
�
�l ��
��,
� x�Ç� 
,- �����. \�S]������l ���
�o1 
��������\�S]�
�
;�L���� @ ���A �� O��5
���,��$�1 
������������$,�$�����
�
�� �������e �9 ���$� �
�o� 
������������S]��¤ o�� �,
� �¦ ���Þ �$u �������o1 
������������¾ ���� �E- �} °o���e �9 �
$����$� � 
�������������Þ �$u �������u �� �

� ���
$���
�o� 
� ����	��
�\�S]��� ����°�,����$d������ 5r �����
�A .
J� �Ç1 
������������7� �����$q������A ��������Ñ;2 ���Y� ����$X�� 
������������
��$4��
��V W���,§� 5̈��
�A .
J� �Ç1 
������������;� 5A 5�- ���$����
- Ô ������A ������������ 
������������7RØE��MY�����45� ��$��� ��A 5- w��Ç1 
�������������,�$��Q,����45� ����,�

�45E�
¶� �Ç� 
������������
,$������- X���	��$�O�$�����$9 �$A ���A .
J� �Ç1 
��������������������r ������$��;
�L��A .
J� �Ç� 
������������� �
� � ���	�E� ���$d�����N������
���Ç1 
��������������$��$� ����
���[�C���
�A .
J� �Ç� 
������������
�x���,��$� ���T o�$x� �,$̄ ��,
�
@ � �Ç� 
,- �����. \�S]�È���[ ������H f. ��?�� ������
� 
� $¤ ��	��
�\�S]�� ¤ ��$A �- �X��
����A �E��§�
���5�Ç1 
��������������,¯ @ ��Ô �$�O��4���� 57Ç�$x� ��;� 5A 5�- Ç. � 
�����������������9 ���������r �u ��
�� �q�Ç1 
���������������¤ �
	����� ��	��$�O��;���� �
	����� Ç� 
,- �����. \�S]�È�������� ¤ ��� 
�����\�S]�
���5r ��Y����A ����� ��
���,��* + Ç1 
���������� ���[ ���� ����A �E�����������Ç� 
- ,�\�u Õ ,�
��S���������$� ��- ,���7���i�'''��$����i�''��� ,���i''��

?
A $J���''��©�ª ��$A �- 
�j������$A �- 
�j� 
$����\���X��
����?
Æ��>5� 5$����
�	� 
��
��� $���� ��� \� S]� � ¤ $T � ?/ß� 4- � $T � ?
�
wJ5} $,� ?�
�� $w��
���
�1�


�x�
�������?�
��� 	��Í�A ¨�$� �,J
W. ����
� ���� �����S]�È]���]��� ¤ ���� ���� 
,- ��¨���
��. \�� À �,5®��$x� �;�
��?* + �	,. ���
9 ���\�$d�X�� 
��
�\�� À ��$����?x��� À ��[ ��� ���S�� 5� �� 



 18 

?
	$��� ���$l ��	��
�\�S]�,�� �������e �9 ���Þ ,¯����
�A 5Ç1 
����������������������������� ���C�����45� ��$
���l ��
���,
� x�Ç� 
,.- �����\�S]������l ���
�o� 
�;���	��
��,- �. � 
$��� ��A 5�$
x����	��
��S]�P��
y
���D�
� �
�F �
���X���� 5��5;�Ç�
�
L��

��45� ��1�$� �� 57������C5��,���A �
� �������A $- ß�A 5�$
x��Ç� 
,- ����. �\�S]�¾ ��È��������?�� ���,�� �����
�

��	��
�\�S]�$����N����s ,���¨���4���� ��;� 5��5�Ç. . 1 
��������������Y± ��Y± �q���EYàE� ��$��
���;� 5A 5�- Ç� 
�������������� ww���	�������	)��u �����Ô $�O. 1 
�������������4��
	����� ���- �,
� ��� �
	����� Ç� 
,- �����. \�S]�¾ ��È���������
¦ ���� 
�����\�S]�
���� 
;���7����
�� )�������Ç1 
��������0������EA ���= 5� ���$��A � �����
¦ �Ç� 
- ,�\�É Ê�,�
��S���������$� �- ,��'#'''��$�����#'''��� ,����''��?
A $J��

�'��©�ª ��$A �- 
��� 
$����\����$� - �
����?
Æ��������$����
�	� 
$��$��� ��� \� S]� �$W�$���� �
A �$�� �$W�� A �I � ,�� $�� ��� $4��
A ��I � 
o�

� �����S]�¾ ]�È]���]����
¦ ����� ���� 
,- ��¨���. \��YE�
�
A �E8�������?* + �;�
���Y± �,5®�S��[ �
�� 
?
	$��� ��4$���	��
�\�S]����x� �����������r �,�����w�Ç1 
������������������������
,$��6�$����	��$�� ��
�$J�,
����
@ � Ç� 
��������\�S]�4����	2 ���- ����Y� �$��;�T����;1 
��������������� � ����������� �A .� �9 ����;� 
�����������³ Rq������� ���
�����,�$�
<$
1 
������������Y$�������
;L���
;L* � ������
�o� 
�� �
	$��� ���- �,
� ��	��
�\�S]�,¯ ��
$@ ��- 
X$���	��$�O�©ª ��;� 5A 5�- �1 
������������������������������?9 ������Ð���
�»O�,5u�§���r�5Ç� 
���������������������������������o��Y± �
- 
��� � �,�$x�����u ���;� 
,- �����. \�S]�©ª $��
�o� 
��������\�S]�,¯ $4�

¦ � 5�
M���������o�,�� �q�o. 1 
������������4U �	�9 ¦ � 5�E��u �� �

� ���
$���
�o� 
?�� ����52 �� 
$��� ��������	��
� 
S]�¤ ]��������
���$d������ 5� $�����;� 5A 5�- ��1�
��
������
9 ����
������� 5� ����
�A .
J� �Ç��
���
á W
��o\7RØE\����$	�$Ê�����q5- �Ç1�



 19 

?A �������§���
9 $��$Ê��	\,�
���Ç��
���$�d�A ���s ������ ����;��
�Eq��Ç1�
�â���� � 5r ���\E�Û
	�\;
� �� ����
������ ��� �
�� \��45Ó \A ��
���1�
$d����N��������� ���,�$
�W� \,$��	��Ç��
���
�������d��� o\�Y� ��§�����b 57�Ç1�
�Y� w�\E�¨� \	�����
�Ù 5
�� �

�Ç��
$d�����������$��̈ ���| ��
�����
�
�Ç1�
������\�r �����\$��;

LL��
¶� �Ç��
�I �����
9 ����
,\� 5� ��
q\�$;�� ��Ç1�
��} ,\���$��\µ�$��,
�\��
@ � �Ç��

���
A $d�������
A ¦ � 5
y�9 5���
¶� ��1�
�����$�
�;�����
�,��� �� �� 5�����
� 7��W��
���$� ��

\�$��+ ��Ç1�
3����
§T$�O��������� ����\�qY
6��Ç��
����S]�¤ ]���
��K��	��
�\�S]���K �����- ���¨���,
Z
Ç�w�����5�. Ç1�
��������������Y± ���Y± �q���
�����
��	������ ��Ô $�O��
�������������;� 5� ��K �7RØE�������;2 ������ ��. 1�
�����������������
	����� ���4���� ���,���� �
	����� Ç. ��
,- �����. \�S]�¾ ��È������$��
�o��
- ,���7����i'''��$�����i''��� ,����i'��?
A $J���i��
,- ��¨���. \��Y± �[ �S�,5®�
���?
	$��� ��������� �
	$��� ���,���
�
9 ���\�$����7RØE����
�� �ã �7RØE��,¡��[ ��c�$���
� 
�0X���$����3���

;�
1�
$����\����$� - �
����?
Æ���
�	�D� ����
$�������\�S]��5��

¦ L�(� 5�D
� ������Y	o��7�1�
���������������
�����Y� ��� �����S]�¾ ]�È]�����$��� �����
?
	$��� ��4$���	��
�\�S]����x� �����������r �,�����w�Ç1 
������������������������
,$��6�$����	��$�� ��
�$J�,
����
@ � Ç� 
,- �����. \�S]�4����	2 ���- ����Y� �$��;�T����;1 
��������������� � ����������� �A .� �9 ����;� 
�����������³ Rq������� ���
�����,�$�
<$
1 
������������Y$�������
;L���
;L* � ������
�o� 
�� �
	$��� ���$,���	��
�S�,- �. � 
$��� ��
0W�u ���	��
�� 
S]�� ���$A �
��- ��	��$���6���
��
�� �
�� Ç1 



 20 

� O�,¯ $��J��$	��� 5��r ���;$r ��
;Jo� 
- ����5� ����������� �85���
WA Ç1 
�- o���� $��$�7��$4�

��r ���
r � Ç� 
�$	��� 5�� ������$������4��$��
X����A �Ç. 1 

0W�u ����$����$��	���T ���� �u�Ç� 
���
�� �� 57���A �����$�
���
���
- 
Ô �Ç1 

,�T ���$��
	��	�����

- ��â�
�

E�� �Ç� 

������$��,���§�
�
��,5®���
¶� �Ç1 
�
9 $��;��$���L����� 5r �����
�A .
J� �Ç� 

�Eq�������$d������� ����°�,�
@ � �Ç1 
?
@ �����	����$�����
�E4$U �,��
� 
�Ç� 
�
� ��$��,
�<�§�����	���
T ��
��o1 
����$J�R���J������,�$
�W� �,$��	��Ç� 

�,��� ��� ��$� ��	��$�¨
� ��$
�A $��1 
>�
�
���
��
�45� �������
9 ��$4�E� o� 
$���E$��· �¨� �	���,�
����5� �� �Ç1 
�
��
���$��
�� ���$�����b 5� �$�����
�Eq��Ç� 
�,����MY����u �������
9 ��$4�E� o1 

�E4$U �,��� �z����� �$M$- ����
��� 
�� ����°�,����
������
�
��C���A .
J� �Ç1 
���w�����J�����
@ �����
�A .
J� �Ç� 
>�
�
�������,�x�@ ����$���4��
$��,��Ç. 1 

�D�Q- X���
L��
����T �,�
� ����
�
�Ç� 
��N��������
���,�$
�W� �,$��	��Ç1 
���$��������$d������ 5� $�����
�Eq��Ç� 
$�
���
����
- Ô ���� 5r �����
�A .
J� �Ç1 
�,����MY����u �������
9 ��$4�E� o� 
$���E$��· �¨� �	���,�
����5� �� �Ç1 
��
@ � ��,�$�
�A �J$�
�
� �A �J��Ç� 
(A ����

$J����
���� ���	��$�O�$�����
�;9 �o� 
,- �����. \�S]�È�������À ���¾ ���Þ ��$��;
�$��������H f�� ���. . � 
$�� 5��	��
��S]�$���w�,��$�� 5E����- 
�
����JR�5�Ç1 
�������������	«��EYàE� ���¨��Ô $�. . O�
��Y� �

Ç� 
��������������4���� ��	«��
�������E
�
��� ��. . 1 
�������������
;L* � �
	����§�©ª ��� �
	����� Ç� 
,- ����. �\�S]�È���¾ ��$�� $�� 



 21 

- ,�\�?	o�,�

�S���������$� �- ,����7����i'''��$�����i''��� ,����i'��
?
A $J���i��©�ª ��$A �- 
�i��;r ���$A �- 
����K � ��
�
����?
Æ#��
�	��5�1 
$�������\�S]�$�� 5���YäË�$�� $��$,$����4����?$,�$�1 
������������� 5J
å ��- ����o�� ���1�S]�È���¾ ��$�� $��� ���1 
����� \� S]� ,���� 	�� �C���� � ������ 
��y��Ç. 1� $��̈ �� + ¨�� ��� ¤ .��� � ��

$�� 5���������Ç1 

��,��� $���� \� �l ��#� ?Æ$�#� $�����#� �
�� ��#� �+ ���#� ���$�#� �5$����#�

¥��
��#�©ª $�#�?
T��1 
�� �9 �$��� ���$����\�
�������#���� #���� �� �#��
����#���� ����#�E����� 
�� ;�
#� $x� ;�
#� �5C5�#� ���� ��� #� ?* + � ;�
#� �YE
�
A #� ,¯ � ����� 3��

�� 5���* R�p �	,. � 
,- ��¨���. \�	«����,5®�S��[ �
�. � 
�
9 ���\�0�E� 
��
�\��Y��������[ #�0�E#�;�
�S�$���� 
?
	$��� ��
;L* $� ��	��
�S�,- �. ��
�� �
	$��� ��©ª ���	��
��S]�,¯ ��
$@ ��- 
X$���	��$�O�©ª ��;� 5A 5�- o� 
��������������������������?9 �����Ð���
�»��,5u�§���r �5Ç� 
�����������������������������o��Y± �
- 
��� � �,�$x�����u ����;� 
��������\�S]�,¯ $4�

¦ � 5�
M��$��������o�
,� ���o. 1 
������������4U �	�9 ¦ � 5��E��u �� �

� ���
$���
�o� 
$��� ��	���� ���	��
. ��S]�
������;§���+ <����d���;��
�
�q��1 
�����������������������
�� 5� ���5T���+ 9 ��
�	���
�����
w- �� 
��������������������������� - ����} °��
��
q� �,$��	��1 
������������������������,��u �
� �+ 9 �9 ��	Y� �u �����
¶� �. � 
�������������������������Y6�dY��� 5�A Y����5
X����5
X$�9 ��1 
�����������������������9 5O�
,,���
¶� ��

� ���A �������
���� 
,- ����. �\�S]�	��	��	���� ��� ���. . . ��?�� ���\���
� 
3��,4��T �
����S�� ]���$���P,�� �����
� ��,- ��S�	��
�
���������. 1 
3�� ��� ,- ��� ,�� ,Y
����� ,- �� �
�$�
. . 1� ,Y
����� ,- ��� ,�� �A ����� ,- ��. .

��$�1� �]���� ?�� ��� �
¹ 1� �]���� �2 ��9 �� 4�
��$��� 
��5
� 1� 
K $��� ,5L�
�����- �44�
� �4�
������M�
��$�
1�
��� 5r �� 5r 
��
����
� 

�� ]�����

- �����
,5Lw�$��$���;�����$� ��
�gY� ��$�
�3���A ��� �S�
����$���,
¦ $��

� ��
�� �
�$�
1� (��$��� �$� � 44�
� �� ���	�E�� ��$� �� 4o� - �
� �� På�. 1� ������
?��	���� ���� - �� � 3��� Jf� $���� ����� 4$��� P,���#� �
� ����� - �� 1�(����
���
�E$��
�� �� 5r 5�
0W�������4���� ��E��
�����
� ����	$2 ���3�X���
� �����
$�l ���$� ��
�1�S����>��C������$Â��4�
�4U �?	��$��(�������$����q$8 �

�u �
�� ��
���
01 



 22 

,Y
�����,- ��. \�S]�����,Y
�����
�o��,$§�,;�$�� 
�A �����	��
�\�S]�È]���
¹ �?�� �����
�o��,$§�,;�$�� 
���������������S]�P��ß�A �)���e ���
T �+ ��$9 ����� 
���������������
�$�����
������� �
�� �,$w	��� 
���������������- ,��X�Ç�
�����A �
� ����Ç1 
����������������u ���� �y�	� ���
L$
L�
���
¨� ��
�� 
���������������
���#�$������6
����� ����� 5�5X�� 
����������������$�����
� � �Ç� 
_�a� �V O� ���� �A ���� _ia� $��$��� �A ���� _ja� ���� 
�
6��� �A ���� _ca�

A �
�� �
�
���A ����_&a��;� / ��A ����_`a���$�x����A ����_!a�Jf��5X���A ����_"a�


� ����A ����_ a�+ ¨��A ����_�'a�A 5�$
x����A ����_��a�
L,5��������A ����_�ia�

��X���A ����. _�ja�?W,�����A ���. ��S]�¾ ]�À ]���]��È]���A �����
�o1�,$§�,;�$��
,- ��. \�,$������A �����
�$��3�X���
����E8 �,5®�
�$�1 

 

��$���$u �L 

�
- ���5� ���C������s $,������D�
� Ç1 
� �T �
����� ��,�,Î���$� ��
� �
�����Ç��� 

����� �� 5J���A ��9 �$��������= �Ç1 

��
���
�
��A � ����$= �� 5��5X�A .J�Ç��i 
	���EA ��= .� ��
�D�Q,5� ���A Ç1 
�5������
� �u§�$��
�� ����
�����Ç� j 
S]�
���5�
���s ����} $,���
� ���� 5	Ç1 
$�������� �* $��$,� ��
��
���
�
o�� � Ç� c�
$���
�§��
J
�§�* + ���
��
WA Ç1 
���A .� ��
L$��$����� ��
��
���Y�n 
� Ç� &�

���5��Y����A ����� ��
���,����* + Ç1 
�� ���[��� ����A �E�����������Ç��`�

���� 
;��7����
��.)�������Ç1 
0�������EA ��= .� ��� ��
��
����
¦ �Ç� !��
?6���������$d����;l �
�� �
��y��Ç1 

��
�����o�� � ��$��̈ ��� ����K ���������Ç��"�
,���	�. �C����� �����
��y��Ç1 
$��̈ ��+ ¨�� ���¤ .���� ��$�� 5���������Ç��  
���$�$
�� 
����$u �L��4o�,$ZO���$� ��� 
;o1 

�������4
�������$L����
T u � �
�����o���' 



 23 

¾ x4���� 5�§�
,�($��E���,5
<�6�
Ç1 

�
���
���§�

� ���� $� �,- ��$� ���� 
� 9 $���
Æ4�$������5$4��;�$/ ���,�R��o1 
$� ��$�������4�
T ����$���©.��W�����o���i 
 
�����E$�$�����
� 
���$���E�,
� �$E�����
�
1 

�
	�
�± 5���,�
��� ��� 5���

. � 
$� ������
����E���?���

��1 

�$Îx��
���� ��7��� �;��;�� 
�� �
�Î�
������$� ������ �$�1 
?$�$� �$� �����,- ���
�)�39 $�. � 
����� �$��$�������
� 
(
�$���

�� 
�9 �$���\��
1 
�
�����A .
���5
X�� ]�����;��� 
4]������������Y<�3��
LA 5�
1 

�
	�
�± 5��$�x��(��$��E�� 
;l ��4������ �����
��
�p. �,��1 
������+ ��?
Æ�4���- ����� 

L
�
����� ������
�)�;��1 
$����� �������,$����)����� 
�
�������$- �$R�,�������1 
�Y���$
��
�������	��
� �(�� 
��$���,��,$̄ ��
�����

� 1 
�4��,5L����

���
���A ��� �. � 
4]������ �$������� �Do7�9 �1 
4]������ �$��EY$���� ��@ ������� 
� ]�����;
�L�* ���
������
1 
�
�
������ �- 
��������� 
A 
� A $���
�
�������?�	�
1 
�

��,]�;��������,5���\(7��
� 
 
����������������Â ��=  
������������ ����(7��
 
���
��
�$�$� �3��(
0��©�ª �1 
�
���©�ª ��$����
0��� ���,�� 



 24 


w- \$�����$��� ���
�
���9 �� �1 

A 9 ��0�R��
�
��� �����$4�����9 � �� 


� ��
A 9 ���
���$��P���,��. 1 
� ���$� ��
w- \$�������?)9 �� 
?T$�������� 7��?W�
���$,$X1 
� ��;\�Y$± ��
���A $- �?�,$X� 
$�
��$��,5L�3��A .
�� ����1 
$�
����� ������ 57�
�J�$��A �
��� 
����$��
�	�� ��(
- �
��� $7��
�
1 
�
�$J�
�J����
�

$- ��$4���
� 
4��$����� ��$����(
- ��
� U ����
7�1 

A 9 �$� �

A ����
��
�
���X���� 

w- \$����,5L\�9 ��
A 9 ���
���$�1 
� �����
��
�����
7��,5$L$�� 
� ����,5L�
�����$7�?��$�1 
,§���Q�$��,5$L�
���,�Z��$�� 
� ����	���
� ��$��* ��E��1 
?�
�
��$	��
�� �
�$7��� 5���� 
��[ U �����¤ $����[ �($��;$
1 
,
r � ��
����� �$����$���A $�� 

�I �� ���
�05$� ��
�
������
� 1 
����
;$T �
�$��,���������,
� � 
3�} ,��������
;T �������1 
0�
R��(,
�EY��
,� Y���� YE�� 

�$�$��
�$�$��»
���
��,4��X
1 
�$
$� �$������L����
��;��� 
(;
q$� �3��@ �$
�,������;��1 

,� ����� ��D�- $
�$0$R$0������� 
3�$�
�Do$7������47

�� 

�1 
	5��$� �,
R���,5L���
�$� ���
E�� 
?� o,��E��$9 $L��
����E�
1 

�± 5,$��
,r �
�����
���� ,��� 
��$�$� ���
�����$���$��7r 
1 
�

���Y
<$� �,$R�
w$- ��
�
� 
�

$� ��
�������5
6�$E����. 1 
»
�$� �»
�$� �
w- �$E���K ���. � 
P,
@ � ����¤ $��
��A ��
E$�1 



 25 

$�
7��� ����3����- ����- ���$�� 
$�7�$
����- ��������Q� �A .,
� 1 
��T ���T �* ��
¶� �����	$����
� � 
� ]������A ���
w- �4�����$,]�
0�1 
$�
7������Q����- ��?A ���
������ 
$������

����� ��
- U �$��
Y,
� 1 
$��
����å���S����$���t 
� � 
� 

���
w$- ��,5L��$���� 5��1 
� ����
���	
��S$���$����� 
?
� ���
�Do7��(
��
���
,� ����� �1 
� $���
�$�$��(
��4���4���� ��� 
���Q���$�
�
w- �
;T ��,
���1 
(����(�$����
��$��$���Y,����� 
��$[ $� �

,5��� 5
��� 5
: �?)��$
1 
(��$������� 5<���$�����8�$
� 
(����(0$��D��45E��
�
1 
� ��@ �$
�,R����3��(
�§
� 
� 7�Do7�U �
�,�$��������U �
1 
47
�$4�����d$X�PA �����
� 
� 

���A .,
� �������I <����1 
3�} $,����
�
�� �����X���� 
$��
��<�
�
��(������� $7���1 
��- ���,
r � ��
������,
�;�� 

�<A �J�������$��
�<�(��,
1 

Y,
� ��D��,5L��$��?	��
� 
4$����
�� �,�Z�$�
��
� 
�
1 
��$�����$��� ���
��
������ 
3�} $,�
�05
�
���$��
�E� 1 
���$���$�$���

�����P,
�� � 
� ����

�$X$� �
������
1 
,R5������ ��

�
;$
�$��
�- 
� 

;

$� �
�
���
w- ��

��0�
�1 
�

��} $,$� ��
������E
�� 

- U �
���
w- ��#������0�	
1 
$��
���4���$�� 5�� ������(E�
� 
�

��$�#��������������1 
,
R��$��3)�(
��$� �������
� 



 26 


����$�#��· ��� $7����?	��
1 
�K �4$��$� �����$��,R���37
� 
� 

���
�$���������I <����1 
� �����

�$X��

�,
R$� ���
E�� 
�������� Y
� ������/ ������
1 
?�
�
��$	���������?	��
� 
��u �
�������

�����

,5�1 

�����,
�;��;�
���� 7
� 
�

��$�#�
����
���

- �,
�;�1� 
��
¦ ��
�������$4����� 
�. � 
� 

���� ����������
�������1 

��$��A �E�����$����� 

\,
�;�� 
4
��$����W�$�����$��(��$�1 

�$������<��������$��,�$�. � 
� ������8�
�$������$�
7�� 

1 
���������5���R�(�5��,����� 
(����P,$��($0�$� ������X�9 1 

�$��4�$�����$�
7�������,9 � 
�

��$�#��
��� $��� 
������1 
���$A �E�����J�������L���� 
(��?�
�<�$A �E�0������($01 
����r ��$	��4�$��
��(
�$��,�$0� 
����r �,�$��� 5
��?
� ��R��<1 
,¦ �$� �Do$7��$���d 5
;$��?
�<� 
�� ��
��$��
E$��A E����\� �$�1 
3��$
�3�	��$
�A - �� 5��
�$�� 
���$��,���$� �,�$��?�s ��� 5
� 1 
�
������� ��(
��3��
@ ��45
� � 
3� ��
���

$����
�?T	��
1 
(��
��$�
7$� �,���
�$����T �
� 
�

\(U ��� �� $��
E���E��� �$�1 

������3��$
�A $- ��
��
�$�� 
����r �,������$�
�U �
��
�. 1 
P
Z����]�R���� 5$7��
�������
�� 

�I �����r �,���
��$�
7�� 7
. 1 

�
�� 5
����,5
o�A $- �
������ 
�4��,5L��$
��$
��5
,� ����. 1 



 27 


����$����9 ���
��� 7

��
��� 
(,
���$��$J��<�,����©�ª �1 
���
����$��J��$����$���dX
� 
(
��4���
�)�� �������
�,��� 1 
�5$: �,$R���
u �
���
�$� $� �?
�� � 
$4�D����- ���,5$L�,R��� �
w$- 1 
������
��D��,5$L��
��

��

$- � 


- ������$��D��
�� �� 5r �E
R1 

�$���

�$X��$��$E���R�
R� 

�����$
L�� 5
���
��	��
��$�1 
$H 
����
�$�
�� ���P+ ��P,$�� 
$��������Q����- ����$
$� �
0�1 
,5L�?����4� ��,$
�$�
7�� 
�,
�$�
7�����- ������u ��$�1 
A �E����\� �$��Û � �;
�$�
�$	$�� 
$�
7��
�$���$��$��,5L�� 5r w�1 
���������
����- ��A .$�$� �,R�� 
�
�����$�#���- ��$�
�3� �»�T1 
?
;$��,��$��,5L�
��- �
��YM�T� 
��- ��?
� �Do7\�$
#���������������
��	$��D’
�$
# 
�������������
����$4��$���������1 
���$����+ ��
�
	#��������������3��
������
�
	# 
���������������


	��
�
�������� 

�����T �- 
�$�
7#�����������������$��� ���$����
7# 
�������������,
R��$��
�)�4���$�1�� 
�$��,5L�* ���
#����������������� $7$� �- 5R�$�����# 
�������������3����́ �������$
��
�� 
�� �,�,��$�
0) #���������������� ���$� �$�������) # 
��������������
�
��$�$d������Þ ,�� � 

��
���
�$���$��J#�������������� ����
� ��
��$��J# 
������������������


�������A �� � 
$¤ �$	��’��?��A �
�#������������(��
���
�$� �,�
�# 
��������������;$��>�
��
���?)�
� 1 
� 
�S$��;�E�#�������������������
����
�$���8
# 
������������������E�$����7�$���t 
� � 
(U ���L�;�E��©�ª $���]�
	�1 
E���	�� ��
��������E�$�$� ���
7�� 



 28 


�$���
�
\��
��:$��?
���1 
�$�#�����$�
�$����(,��d
X�� 
- 
,$��(,��4���A ��
�\;��1 
����(,���T �����	5��
. � 
���	5��
��9 �3�$d����C$X. 1 
A .,
� ��$¤ �$	�����µ
��$����H �$X� 

�$�$��3$�
0�(
��
�
��- �

��Z1 
3�Do7��
���(��������

�X� 
3�} $,�
���������E�$����
�1 
� 

$��,����H �$X�
�������$8� 
?� o,��� 
��$���$��3��
1 
���r �$����,�������47
. � 
,5L\$��$��
Y,���($0
���� �1 
$�
��$��D��,5L�(������� 
;�$��������
��	5
��$��X����1 

,� ����� ���
��>�$���+ ���
���� 
��- ���$�#�$�����
0$��?$8��
�
1 

��� 5
:$� �,�
��(
��� ���������� 
D��,5L��$�#�
0)��
������
1 
�� E$���$����- ��(
��©�ª �. � 
������YM�T ����- �$
�$���
w- 1 

�$�$��
������<�
��� 5
:���

- � 
(U ���L��� E��($
�
���$�. 1 
������$����
�����$�
�?T$�� 
��- ���$�#�
�0���<�$� ����
�)�(
�1 
��$�����$0����������
���� 
�������������$���A � 
1 
$��Í�
�� ������
0��P+ $� �@ �,
� 

�����#������- ��
��

$��
1 

�05��L�
�
��- �

�� ���������� 
�

\$��$J��<�,���dX$������1 
�

��$��$7���A .,����,
����� 
��
��¥x���· ��?å5� �dX
1 
(��$�
�$����������PÅ �,
� 
��- ���$�#�3�������� ���
����

1 
��\$��$J�
�
���<�A ��} $,�- �

� 
4
��$���7
�����

����
1 



 29 

,
- $��� ]�����,���
��� 5<��
. � 
$J�R$��,�;�$��,
- �
�
��P,��$�. 1 
A 
� $� ���æ 
���
��
�
	\�����$�� 

����$�#������- �
@ ������
� 1 
37

�- �

��(
���

����
� � 
3� ��
��
������
���E�
1 
�

��

�$X�(
��
������
� 

�
$���$�
�
����

����
� 1 
$� ���$��,
- $� ��· ���$�
�A .,
�. � 
4
��?)������;�������1 
�
�$� �?�� �(
��,������A �� 

�$����;$
��

��I <����1 
D��- $
�A .,
� ��

�$X�;
��� 
��- ���

�$X�(
��
������
1 
�

$��$�
������- ��(

�� ��
� 
�

��;�$����- ��$��X�$��,
R�1 
�K 
�	�u ���
���
�$� ���
E�� 
$� ���$���
���,- ���
���
0��
. 1 
3���$���?,��	����
�$��;
� 
� 5
��$���$���$�� �$�����
¦ �1 
��
�$� ��]�;�$� �,���S$������� 
(
��?
� �
��	��
��- �

��
���1 


- * $������A 5����$��J�9 ��� 
� ,
\� 
��� 5
���� �* �	��1 
$� �����$4�
;$
�� ���,5$���
� ��� 
�
���$� �����,- ���
���
0��
. 1 
?)����’$��$����������� 
,- ���,6
� �
�����A 5�
�
��- �

. 1 


- �� 5$7��$��$���- 5R�S�,����� 
� 

�����- ���u ���

�����1 
9 
�����?,��	�
�
��(��A �� 
,- ���

������� 
��A .,
�. 1 
� 5
��?
� �� 5
6��
�U �
������
� � 
(������$�$� �� 6�,
������
1 
�
�$��(����,- ���$��� 6��
. � 

���[ ��Y± 
� ���� �����

$�1 
�
�J���J�����������
�$�� 



 30 

�Y± ����dX�(

��
�$��@ �,
1 
,§�- �
� �H5��H $���
�$��?� �
� 
�
�¨\
�	�
�� ��
��������1 
A 
� ���	�
�� ���
���
���(�� 
A 
� ��
��$4����$��(����,- 
. 1 
9 $���L����� ���Do7\
�$��;
� 
,- ����
���
�$���(��$������. 1 

����$u �L�,�$Z���$���
��� 
,$�$� ������7�$���
����4� 
1 
�� �,�$,�� 5� ��$��(�����;
� 
?A 
� ��
����$4�������7��$�1 
?�
�$
��Y� �$T��A �$
�$��4�$�� 
(����,- �$� �4
���$��?
���. 1 

;�����Do$7�$�����$����� �� 
3�������
���

�����?���
1 
A 
� $� ��$�
���- ���

��,- 
. � 
�
� ��

��$��,- ���$��
���. 1 
	
�
����
��$���� 5
J��?T�� 
� ����
���� $��
���������1 
E��� �$����
¦ $��,$- 
�4����. � 
�
����
��
;� ��	5������ 1 
,�Z��$���
���Â ��
���
�
7� ����
 
�
� �����$Z��
� 
�� �
�$Ex��
������
�S�- ��H5����
����������	
���,���.

H ����
��
�$� ��9 �1 
	��
�����S]�4�$�����$� �
E$��?
� �$��#� 
����������
�A .
� ������
�
�	¦ �$A ��Eo1 
����������4å
� �� 5
� ���
���$���# 
�������������
�E
�����������,$��� 

�$E��
������ �
E$��_�
u g
@ � �
���
,$r �S�$�+ ;$¤ a�4����?� ��������#�

$�7�$
� ?�
@ � � ($0
1� � ]����� ?�� 
�A .
� � w���� ,
�,��. #� 
�
�	� ����� $A �E��
��$� S�
� 

�?�CY� �($0
1�
� 

��å
� �S�� 5
� ��� ��3���L�¥x�1�3�
�
�$E��

�$���(
������,W�(
01 
�
��
� 
������


